R I R (CERk284E3H31HIEAE)
1 K B OB %
i S
4 R X 1 " e
MPRRAIEIC X DT
JINEEE BT (LT ARUSE WS, ) 225202870 A — MV OHIE NG
0o g 115255 A — b /L O His E THI 2 #f B O R L 7> 5 98T, 950 A 190
T R DHIE E TR TS L A D 2028420 A — | L 0D HiLE ) o
5102/F265 A — h L OIS F THIWW =8 K ONE LS 2> 5 118/ 1, 350
A— MV OM S FE TV E O OER, GRRIEAET A
2 Sh< e
1 B e 2
4 N A & JiiS
b BF B R | IR X T RS P v R 259. 59m
W R BB R )y X3 s Jey i 5t 3,339.91m
W R B KRR Il X3 s Jey i 5t 350. 00m
MR W R | IR X SR 607. 64m

@2 B W %

BOE O X e R
HAHT 1, 509. 99m
T T R AT 1, 238.99m
AT 1, 074. 62m
i T 1,481. 70m
w3 TH 1, 392. 10m
w2 TH 1, 060. 74m
w1 7TH 1, 382. 69m
aN=1i) 1, 625. 26m
JHT 3 T H 317.93m
& B 11, 084. 02m

- 320 -




3 ERBEMRR

(1) & i
4 P E R SEN: AU 4 s E R TH B
TR HTHiL X B5 5 E K 27Tm 18. Om
WO W O E B 556m 9.0m | H 6 B B I 161m 18. Om
moo W E B 630m 5.0m| 4 8 1 % B K 155m 22. Im
& BB T v M R E B 511m 5.0m| 4 B 2 % E K 155m 18. Om
5 1 5 R E K 674m 25.0m | 4% ®H 3 & E K 155m 18. Om
S E 2 5 ofE K 153m 18.0m | 4 B 4 5 E K 147m 18. Om
5 B 3 5 fR A K 153m 18.0m | 4 B 5 5 HE K 414m 19. 5m
5P 4 5 MR E K 153m 18.0m| 4 B 6 = E K 426m 18. Om
5P 5 B MR E K 712m 25.0m | A% 7 B E B 161m 18. Om
5 FH 6 5 fRoE K 152m 18.0m | 4 ¥ 8 5 HE K 150m 18. Om
OB T A 0 E B 261m 10.0m | 44 B 9 5 E K 293m 18. Om
OB BT omT o E B 1, 089m 25.0m | 4 & 10 B GE B 293m 18. Om
g i R E K 1, 300m B.om| N B 1 % E K 143m 18. Om
Moo oW oE K 535m 5.om [ N B 2 & B K 155m 18. Om
FEOED T W R R B 153m 15.0m | N & 3 5 #E K 155m 18. Om
T IS BT ST JE G0 A B 1, 052m 18.om | N & 4 5 B ¥ 144m 18. Om
I e 6 9 B R 2R L 2, 180m 40.Im | N H 5 B E ¥ 144m 18. Om
ook i B K 1, 069m 25.0m | N & 6 B E B 144m 18. Om
wko ML mT B B 459m 18. Om
RS e HiL X e 1 18 s 47Tm 18. Om
JIGPEIREE b oV SRR S IR E B 132m 21.8m | # 5 FT A Ak M oE B 117m 9. 5m
ot 1 5 oE B 1, 202m 25.0m | £= 18 s 1, 630m 18. Om
WO o2 5 oE K 812m 25.0m | b & 1 B E ¥ 374m 18. Om
o 3 B O B 1, 259m 25.0m | b & 2 B GE B 1, 087m 18. Om
B 4 5 E B 546m 25.0m | 1 B N — 2 jH B 56m 18. Om
WOt 5 B A B 1, 936m 25.0m | 2 B N — 2 jH B 49m 18. Om
o1 5 E K 506m 18.0m | 3 & N — A H B 60m 18. Om
B2 5 E K 409m 18.0m | 4 =& N — 2 HE K 60m 18. Om
B3 B E K 475m 12.5m | 5 & N — Z HE K 60m 18. Om
B4 5 E K 804m 9.5m | 6 B N — R JH B 60m 18. Om

-321-




Z4 PR E R 1B R b a i E R SEE U
7 5N — A E K 60m 18. Om AT X
8 B N — 2 H K 60m 18.0m| 82 B Xk T & 1,411m 25. Om
9 B N — 2 jE K 60m 18.0m | 7k 7L W] 2 1 5 # 622m 12. Om
21 5 N — 2 3E K 68m 18.0m | K L H E B 20m 48. Om
22 BN — 2 3E K 68m 18. Om
23 F N — R JE K 74m 18. Om T Hi X
24 BN — 2 E K T4m 18. Om | Uk 3E F T )11 ey 5 B 35 905m 15. Om
25 BN — 2 3E K 73m 18.0m | B HT 2 1 5 # 264m 10. 9m
26 BN — 2 3E K 68m 18.0m | B HT 2 2 5 # 750m 14. 5m
27 BN — 2 JE K 68m 18.0m | & HT 2 3 5 # 955m 10. Om
28 BN — 2 jE K 68m 18.0m | B BT 2 4 5 % 69m 7.2m
29 BN — 2 3E K 68m 18.0m | B HT 2 5 5 # 356m 11. Om
30 B N — 2 K 68m 18.0m | B HT 2 6 5 # 79m 7. 2m
31 B N — 2 3E K 68m 18. Om
o v 7 B K 1,257m 18. Om A T X
11.5m j& # 70m 11.5m | H A BT 2 2 5 # 338m 10. 9m
— 4.5m & s 35m 18.0m | B A B % 3 5 # 490m 9. Om
8 m kk M EH B 192m 8. Om
I HT Hit X
i - NS HIX KJIHET 5 1 5 #f 341m 10. 9m
E 4 0 9 B & 2, 728m 25.0m | KX JII W] 2% 2 5 % 305m 7.2m
(VR 38 KRl o] JiE 5 ) KIET % 3 & #% 42Tm 7.2m
O EE 1 5 1, 272m 12.0m | K JII BT 26 4 5 # 902m 14. Om
O HE 2 5 1, 462m 14.0m | K JII BT 2 5 5 # 191m 12. Om
N B BT 6 B R 90m 4.0m | K I BT 2 6 5 # 273m 12. Om
N B BT T B R 85m 2.0m | KX JII B 2 7 5 # 315m 14. Om
AN R BT 8 5 i 118m 6. Om
L BT R
R HiX i AR B RS J /K T 790m 25. Om
® ot B 1 5 148m 8. Om
® ot B 2 B 207m 20. Om

- 322 -




(2) & 1H

% E &4 FR FEC AR A, & T B PRI B
(KRN3R

R (BT ERNTSE 1. Okm

v th=u 1. Okm

ERENIES 1. 6km

SRR 1. Tkm

WAFNE T 1. Tkm

5] ) R =HHREE 0. 7Tkm

© o . B A 0. 7Tkm

WHARESE () | 8 A M e 0. 8kn

WAFNE T 0. 9km

wooJI e BR JFE A F— L H 0. 4km

B 2. 5km

KL 3. Okm

FTA A 1. Okm

A 1. 3km

HFEIRER 1. 3km

p/ AN S O N B 5 S // B N JKITHTER 2. 6km

s g |00 ARIRITER 2 Okn

T TR 3. 9km

T B # TS HTHR 6. 9km

- 323 -




(3) # )

4 P A & g B ;K Y/ SRS

ok E i IR XK T BT e o M2 20> & 600m~700m | 6, 150m | —2m ~ —12m
JVHRF X 5 T V8 o M Je & ¢

oo i J UG} XA T V8 J= #5620 65m| 1,280m| —3m ~ —4m
J IR DX 1 4 WY P8 B i e & ¢

S NG R T X A T P e 50 203 65m 630m| —Im ~ —3m
JINGF X A W] SR P e i S & ©

Mo # ] J IR DX B T 78 e M e 70> & 180m | 1, 300m | —5m ~ —10m
J VTR DX 2 FH T 1 2 5 & ©

e FH I AT )Y X 0 FH T R B MBS 200 & A &£ C 70m~140m 980m | —3m ~ —7Tm

e G R} J IR X 74 B T R B M 7 B R & © 90m 650m | —2m ~ —6m

o b AT JUTIRF X R BT SR e 7 & 130m~200m | 1, 710m | —8m ~ —10m
Ry DX A B AT B i S & ©

[ ] L T & s B EAE £ T 50m 550m | —1m ~ —4m

N VL IRy JE {i] JIIRF Kt BT S50 5 AT £ © 60m~80m 460m | —1m ~ —6m

KL E ] JUIRF XK ERT A FE Hi e 7 & 150m 750m | —2m ~ —4m
U PR YT H o B AR 5 & C

o IR X ATERT B 52 5 280m | 1,340m | —3m ~ —12m
JINRF XA e & ©

® ot #E RS A B L 5E 7 D G £ C 35m~40m 300m| —1Im ~ —2m

T & #E HE e E R s B 130m~150m | 1,120m| —2m ~ —4m
JIgF X T B BTk C

X ORNE AT TR ) B 350m | 2, 200m —9m
T, KIL, ZEESER ORGE T

K JN GE ] PANGIIBCRTIE Sy 75m~290m 540m | —2m ~—4. bm
/N T YR £ T

% EE E KA E ] 05 20> 100m 880m —2m
ZEE) IR A% T

M oE K B TR B 70m 640m | —1Im ~ —3m
B E T

- 324-




4 fATHBIIEER
1 # B =K

A 32 ONIRAEBGEERATE . R RBHERIE LT 5, )R SRR S Bh 5 AT 13)

SREZ 54 (ZE)

(2) fE K UME 5O

1AL, JIRHTES 4 55)

(- T I S

BT fE

E o M =

IR 228

)P PN A8 88 4 1) =
HE IO B AT E 5 T
BERR (A by n=n-b=4 -

I X T 5 HT23 — 2

JIIRE (FEIRHLES . SIIE]) 2 M T3 2 Mo 729
O WATEBMER] & L TIROEBFEEIT> TN D,

- WUATAE IS

WRIZE 5T 8 rpT (BRMEN 2 AT &, ) ZRRiE
L. BNFHETRR, TV ER AT JEFGFEIC LD B

ATV, HATAMIROZ 2% K> T\ 5,

- AR IE I R L S

AT R Z KT T B2 006 5 1EHSEONK K
ZRUTKT D REEORGE . BETHATAAN ST 5 2
BB HYAE, VHF (16/14CH) 1T L 0 EREfoX & LT
Wt 21T > T B,

(BR) AR il E A

38— 1 | AnEhE ok
I3 B AR NI R 38 — 1 | AAAEh SR 275
I

(BR) AR il R A

R TS ALK H
5 EHA22 R EETE
Wt 2 —1812=

FORUE 2R 2 i~ OB IR HEEB O —BR & LT,
FOUENOSHEBE A (RO, Bk, THE, BUARL )Ilik)
& HOUE R KRSe N 23 [E R BVHF O 2 BSaa &2 321
11CH, 12CH, 14CH, 16CH, I8CH, 19CH, 20CH, 21CH, 22CH
EMAH L CHEBBERSZEE L TV D,

-325-




5 MfREHARESR

(1 & K

7 Iz

4 P % & e A
H Bk K& 23 20~30t/h
AR A A 1% 100t/h
(2)  Aefirka AR ALRSL (A4k)

(Bfr 0 ho)

54 & At 1H | 2H | 3H | 4H |5H |6H | 7H |8H |9H |10H |11H |12H
EEITAYN 1,433| 95| 146 181 741 114 178| 170| 79 57| 117 128 94
SRS K 1, 086 0| 528 558 0 0 0 0 0 0 0 0 0
& 2 2519| 95| 674 739 74| 114| 178| 170| 79 57| 117 128 94

- 326 -




6 BEIEEEMRK

() & w\ Fr
7 fE A fE @&
v ZiiN JII iy M B = fF IR BRVE FR A A B s A AR
E 22 R A x5 | AR B K OF it 5 B E WIS @E
- § NI K E2—11—5 I F KA AL —2—29
PrAE M % O TEL T : 044—233—5896 T : 044—288—5915
TE = (—) BARAMEBEEANS (— ) NGB EREA =
- N ﬁfé ARAE285  HrAET= 505
oo N K| EE 104 = B0,
B W= -
HEFE | 1, 956m 2,358
Y
JERRERE | 1, 763m 1,799
. . v | ERF 7 Y — RS 1R .
& : LA — 1 — | [
s & OV AR Sefro s ) — bR 1 gk 7 ) — B4R 1Rl
A hERH AR
(BAL 0 N)
i34 T 2t 1H | 2H |3H | 4H |5H | 6H | 7H |8H | 9H |10H |11H |12H
JIIBFHEEAE | 13,019)1,078]1,119(1,360(1, 025[1,074| 991| 881|1,401|1,274| 881[1,026| 909
| BE - FiR 215 0] 11 10 13 12 6 20 7 7 11 58 50
R VEEERIAR | 12, 804] 1, 068]1, 108 |1, 3501, 012|1,062| 985| 861|1,394|1,267| 870 968| 859
W ARE | 17,261] 1, 457| 1, 316(1, 488 |1, 4291, 488|1,410|1, 457 |1, 4871, 4401, 4521, 380|1, 457

- 327 -




7oAk BT (RFIXRE =B I mE)

W oB 4 B o E B E 4 W ® W =
. 7 i T 471
() ST R b 2 R
(e IR EIAT 9 — 1 R Lo
BN | (SIHREEN) woow |G
T : 044—333—5311 {iﬁﬂﬁi %ﬁ
Tt N w a2
mEAE | 342
(—Bh) 1R e B 2 AR ERE | 460
o _ FERT JIIEXEET13— 1 . PR s
ST T =
RITH P | pesamrm) L Y T
T : 044—333—3521 A=z In==
Mg gif‘%é
“n=
FHERE | 2400
() BRI A 2 T
e — _ fEpr )X 9 — 1 L
g =kmE | T o Teems
(= HHEFAR) WEE ) e
Ta - 044—333—5311 - Gl
WERNA |k m =
TR | 169
| ) R A TR e
ﬁb“:'gb%zl%‘q:g% 'ﬁI—Fﬁ Jllmﬁ‘zﬁbﬁ%BZ* 3 ﬁj&%ﬁ
REE AT (KR & 4 5 FEE) % i 1R 14
WERNA |k & =
HEAE | 545
() TR A e
BRI 8 HAEE | (R IR R 38— 3 L
VR BRI T R E 8 B J8E) WE | SEETRE
WERNE |k B =
HEFE | 127.88m
(—) JH%{%{%@%UE&%% LR S 45. 75m
T 6 R B IR TR 6 — 2 SER IR %%gl
REFT (T 6 52 2RE) E | T 1
WERNE |k R =

- 328 -




(2) T OFEFIEA ik

fii B

4 W

fi B E H A A

i

O S

ikt & —

(— D) NI AR =

(ERT JINRXARA 1 — 2 —29
To : 044 —288—5915

S 0 A5

1, 085m

S PR AR

1,101n

.

P 7 ) — bk
SPER 18

DikE, HRE, =
A=, ZOfh

TRt &—

(— WD) NI R =

(ERT JIHRF X TR HT20 —2
Ti : 044 —266—3324

1,248 m

A fE583m
B fE196m

1

foké

A fH
a7 U — b
2P 1B

Bl fE
a7 U—h7uy sk

2P 1R

=t
Ko
i
}

BNy S NN GE
BE, 5=

R BEMEAE 2 —

(— WD) N AR =

FERT IR X R 5578
To : 044 —287—0024

Y A

3,016m

S PR AR

A FE981N
H AE531.59nt

1

ok

AR
a7 U — bk
— R i
SR 1R

BrofE
SRR

2P 1R

=t
Ko
i
}

N
KRS, R, HAS
ST, FHE

BB
JEME. D, FHE

- 329 -




7 BEBRIEENE (HR)

- = G
4 R At 1E s A0
JI iy il He i Jay |V T ) 1 DRy AT 1 9% 200—2111
JI Wy ¥ OB kv X — n W 38E Ml (HRIB IR LA AR) 287—6027
B B8 I g Bl B XX & I TET11%H15 266 —5621
R IR AL B ) 1 ey ot B = 28 SRS 0S5 HH AR T I 38l (PRI R L) 287—6195
WO MR AT I I R E AT 3R Z HUR 68 110 277—1856
(b & &7 7 Wit % —M)
R I Al %@Eﬁﬁﬁﬂltﬁﬂﬂﬁﬁﬁ I TERT12%35 288 —3408
B O GE da@ R I W Y FOF OB AT Z T BRT12% 35 266 — 3878
JI e B R R F I T ElT12%3 7 266—0118
I PR 22 58 ) I R PN A2 18 7 T =8 I T ERT23%25 277—0946
DATI A S S~ I R T H17E 145 266—0110
D LTI - S = T Y R I L RT3 T B 1555 299—0119
N om o— g — 7 Il g I FERT17& 25 244—8609
RN EE PR R RR e 3 Ry s HH s R R BRRAELT B3E 145 965—0012
O VE A TR T4)

8 EZEREZREIAK
4 # i ¢ Hy b ik
" P 5 2044
JI W fE T & B AT | ST G RERRIAET 11-2) 1[I 70747 b3 211—4111
(—RD))I I 635 8 R R A & I R T8 L 288—5915
($1) 1l iy ] " = I T BHT15%9 5 299 —3477
GG o R OE = I R 385 il 287—6001
Eﬁﬁiwkf‘alﬁkf‘a}\/*\mm%%%%ﬁﬁ I R 38 i1 266 —8877
J iy o # 7] I R R385 il 287 —6092
(1‘5{%)%/#;?@1%&:}!!%(%%?%% " W R385 1 287—6021
R 2 EE A VIR OISR ERS T — B %) n T BRI 15%&5 %5 288—8511
»obox EF 7 oy AR I R E6EH10 272—2050

Mo I R R R

BT A XL R ET233 4 [ b3l LR B L SIS

045-651-4321

9 ZoimBZERES

RRIESEGIES£4 RRIESEGIES 24
— kW O % HF O 40 tf | B % * ES 4 £t
S R T S 16 | i e + ¥ 3tk
LN o N R S R S 13 |k s + ¥ 4 ft
{EI =S R SR N = 28 4L |1 L o X F X 9 £t
OB OE &k B o # 3¢ 34 #t

-330-




10 EQ)INEERADFRE RN

w OB K 4 £ My BB
. ST | W< ot | AT | S
El g R o) M| BT
(m) (m) FTE | BIAE
I & W (3% & & & & )
(T BT HLIX)
T & B 1 5 & M & RBE 120. 0 120.0 | 7.3| 7.3 3,000 | 1 [#& #| 15.1
T H] 2 R AR S (S e ) - - - - | - - -
T & B 3 5 4% M BB 190. 0 190. 0 10| 10| 15,000 [ 1 |#¥ 4%l 16.6
T & B 4 5 £R M R R 219.5 219.5 10 10[ 15,000 | 1 |f: @ BE 15
T & B 5 5 £R M KRS 211. 1 211. 1 10| 10[ 15,000 | 1 |H & 25
T & B 6 5 £& M K S 208. 6 208. 6 10| 10[ 15,000 | 1 |H: & 25
T & B 7 5 RO RS 180. 0 180. 0 10 10[ 15,000 | 1 |H:  #&| 25
T 5 ABCWYH S 331.5 331.5 | 4.5 4.5 1,000 | 3 |& B 14.1
T B W d W o®m B % 298.0 298. 0 3| 3 w10
T & i & ¥ B % 155. 5 155. 5 2 2 A 9
R By Hi X))
Iy = > 7 F 1 5 & i 440. 0 431.0 14| 14| 50,000 | 1 | 1B 20
R OB 1 5 g B 235. 1 185.0 10l 10| 15,000 | 1 | s 20
R OB 2 B g B 206. 2 185.0 10| 10| 15,000 | 1 | s 20
R B 3 B g B 261. 2 240.0 12| 12| 30,000 | 1 | s 20
R B 4 B F B 240.0 240.0 12| 12| 30,000 | 1 | s 20
R B 5 B g B 240.0 240.0 12| 12| 30,000 | 1 | s 20
R B 6 B 5 B 240. 1 240. 1 12| 12| 30,000 | 1 | 1 20
R OB 7T B o B 240.0 240.0 12| 12| 30,000 | 1 | 1 20
R B 8 B B 240.0 240.0 12| 12| 30,000 [ 1 | & 20
R B 9 B g B 270.0 240.0 12| 12| 30,000 | 1 | 1 20
R OB 21 5 B B 130.0 130.0 | 7.5 7.5 5,000 | 1 [¥& i& 22
w OR OB 22 5 B B 130.0 130.0 | 7.5 7.5 5,000 | 1 [#& i& 22
OB B 23 5 B BE 130.0 130.0 | 7.5 7.5 5,000 | 1 [¥& 15 22
R OB 24 5 KB BE 130.0 130.0 | 7.5 7.5 5,000 | 1 [#& 15 22
OB OB 25 5 KB BE 130.0 130.0 | 7.5 7.5 5,000 | 1 [¥& 15 22
OB OB 260 5 K/ BE 130.0 130.0 | 7.5 7.5 5,000 | 1 [¥& i& 22
wOR OB 21T 5 B BE 130.0 130.0 | 7.5 7.5 5,000 | 1 [¥& 1B 22
OB B 28 5 KB BE 130.0 130.0 | 7.5 7.5 5,000 | 1 [¥& 1B 22
wOR OB 29 5 B B 130. 0 130.0 | 7.5 7.5 5,000 | 1 [¥& 1B 22
w OR OB 30 5 B B 130. 0 130.0 | 7.5 7.5 5,000 | 1 [#& i& 22
w OR OB 31 5 B B 130.0 130.0 | 7.5 7.5 5,000 | 1 [¥& i& 22
W OB B A B R EE 75. 0 60.0 | 4.5 4.5 700 | 1 |m EE 15
W B B B B & EE 60. 0 60.0 | 4.5 4.5 700 | 1 |m B 15
W B B C B & EE 60. 0 60.0 | 4.5 4.5 700 | 1 |m EE 15
W B B D B & EE 75. 0 60.0 | 4.5 4.5 700 | 1 |m EE 15

-331-




O OE 4

##

ﬁjl:} Ae
TR | W< ot | AT | —
L : R - E (:I)%/W) i | R & (m)
(m) (m) FTE | BIAE
w5 306. 6 306. 6 4 4 W % % 14
NS L E 145. 6 145.6 | 4.5 4.5 700 | 2 [#E i 13
ENINYE 148.0 148.0 3 3 W % % 15
MO R e RE 725.7 725.7 | 4.5 4.5 o= EE 30
NI S
T 5 B £ ¥ K B 9.0 318.6 3 3 AR <
®wo R O® O S 117.0 250. 0 4 4 AR <
wom R B % F 123.1 113.1 3 3 L
BALRR Y S HNVK (BR)
)1 ies 8453 A
% 1 &2 e & 16. 8 32.5 | 5.1 5.1f 1,900 [ 1 [ 4B
£ 2 vk 18 25. 0 32.0 | 5.5 5.5/ 2,000 | 1 [ 1§
£ 3 vk 18 21. 0 30.0 5 5| 1,200 | 1 |H 1B
HIEBEE (BR) miEAL TRV Z—
JI w1 5 K S 47.0 103.0 10 9] 20,000 | 1 |#& &
w2 5 K 18 16.0 23.5 | 4.9 4.9] 1,300 N
JI i 3 B s 15.7 16.9 5 5| 1,000 [ 1 [# &
I o B K 1B 10.0 10.0 | 3.5| 3.5 350 A
TEE (B N5
w01 Il W BE 28. 4 28.4 | 3.9 3.9 300 L
ws o2 JII W 5 EE 85.3 85.3 3 3 500 W % % 10
NI—EEZE (¥R)
1, 500D/W 2 & 12.0 28. 1 6 6] 1,500 | 1 [#& i
JIGT = =2 3R
JILIRE 7 A =2 > /K T BT 55 BE 91. 1 91.1 6 6] 15,000 | 1 | B
JINEERR L3 (BR) )& L35
I = i3 % 24. 2 54.0 9 8.9 10,000 | 1 | &
AL
T Y—=2F 7 ) RBD
72 e 1 18.0 18.0 2 2 A
=FEE (B
DAV A I = [ 3.0 11.5 4 2 £Rf < 1
JFERXAF— () FHHARREKFT
ORI OB B OBE A 360. 0 360. 0 22| 22| 200,000 | 1 | I
o OROJR OBE B OBE OB 240. 0 240. 0 18| 18[ 100,000 | 1 | 45
OO OB B OBE C 170. 0 170.0 | 7.5 7.5/ 5,000 | 1 |t i&
B o&E & KX B o7 B 320. 0 320. 0 12| 13.5[ 68,000 | 1 |& s
B & B B A RN — = 24. 2 45.3 6 6] 3,000 | 1 [#& 1&
B & B B B N — = 42.5 43.0 9 9 700 | 1 | &
F Y R £ B 450. 0 450. 0 8 8 1| BE

- 332 -




w OB K 4 £ iy HE
ﬁg%zt g{jgz AR (—m) | o | o T7ay
LR g o/ MR T
(m) (m) FTE | BIAE
AKOGL W pE A R HE 84. 0 84. 0 4 4] 1,300 L
KL OE MW % A 2.8 22.9 4 4 300 ®BE
KoL B v —  F 3.1 31.1 | 4.4 4.4 L
KL BE B M L B OER RS 7.4 18.2 | 3.4| 3.4 G 5
o borE R EE (7 — 9 BR) 82.8 82.8 | 3.9] 3.9 L
J FEW®H (#)
X & ® BEH 5 BE 162.0 162.0 8 8| 5,280 | 1 |F @ EE
Y = VA (BR) JIIREZERT
w1 5 B 36.0 37.8 71 7.1 2,300 | 1 |HE 4B
w2 5 B OB 12.5 12.7 9] 85| 20,000 | 1 | 1
w3 5 BB 23.0 23.0 10| 8.2| 5,000 | 1 | 1%
w4 5 BB 8.7 8.7 |10.5| 8.4 4,000 | 1 |t 1%
w5 5 B O 29. 5 39.5 10 7.1 4,000 | 1 | 1%
w6 5 E OB 54.3 57.7 10 7.6] 4,000 | 1 | 1%
mo oA 1 B KB 5.0 5.8 | 4.5| 4.8 1,500 | 1 |#& 1%
mo oA 2 B OE B 11. 4 12.8 | 4.8] 4.8 1,500 | 1 |t 1%
Wmo AT 3 B KB 11. 4 13.0 | 5.5| 5.5 300 | 1 | 1B
EFE L (B) JIGERET
BB O1 OB N — oz 39.8 39.8 | 5.4 5 800 | 1 |# &
B OB 2 B R — =z 28. 4 39.2 | 5.4 5| 1,000 [ 1 [ &
O 3 B N — 2 37.0 37.0 4 4 400 L 10
B OB 4 B N — = 44.9 44.9 | 5.4 5.4 1 |& & 10
B OB 5 B N — =z 138.8 138.8 [ 7.4| 7.3] 3,000 [ 1 [£& &
B OB 6 B N — =z 12.0 22.7 | 4.5] 4.5 750 [ 1 [ &
B OB 7 B N - = 3.2 16.6 | 3.5| 3.5 &
B OB 8 B N — = 7.0 29.0 | 3.5 3.5 &
I J=2 e % 20. 1 33.4 6 6] 3,000 | 1 | 1§
WEFE (#R) BAREEZERT
e & 44.0 89.0 | 5.5 5.5 2,000 | 1 |& i
I XX LE— (#)
BOEOFE 1 KOG 98. 2 197.2 12 12| 73,000 | 1 |#E &
OEOE O1 BN Al 42.0 42.0 | 4.5 4.5 1 [ 15
BHOEFE 2 K 5 94. 4 98.9 | 7.5| 7.5/ 3,000 [ 1 [ &
OEOE 2 BN Al 28.0 28.0 | 4.5 4.5 1 [ 15
BN O F 4 B OB 80. 0 80. 0 5 51 1,400 | 1 |k i
5] iy J== EE 70.0 70.0 | 4.5 4.5 500 | 1 |[B B
5 my W % o) 123.6 123.6 | 3.5| 3.5 500 W% %
T H & M 0w H 5 24. 1 24.1 | 3.5| 3.5 500 W% %

-333-




w OB K 4 (A iy AE
?ggz g{jggﬁﬁ AKE(—m) | Fg r —ral
VA A el Rt o/ ||| T
(m) (m) FTE | BILE
I XX ¥— (#)
)1 i SR
+ B ke & 26. 1 44.5 71 6.5 3,000 | 1 |H 1B
Howm o o%m 1 & B 28.8 73.3 4 4 500 &
HoOom B 2 K OB 25.5 77.3 5 5 1, 300 [ &
HoOom 8B 3 K OB 25.5 77.3 5 5 1, 300 [ &
wowm o o2 B 13. 4 48.9 | 3.5 3 400 Lz
wooB B 1 K B 22.6 22.6 4 4 835 B 1B
BB OB 2 OB 27.8 27.8 5 5/ 1,300 [ 1 |4 A&
BB % 3 OB 19.1 28.4 6 5/ 1,300 [ 1 |4 A&
BB OB 4 OB 28.9 28.9 5 5/ 1,300 [ 1 |4 A&
BB % 5 OB 26. 7 26. 7 6 6] 1,500 | 1 [t 15
BB % 6 OB 49. 2 129.0 | 7.9 7.9 5,000 | 1 [ 15
BB OB 7 OB 22.8 22.8 6 6] 1,300 | 1 [t 15
%8B % 10 % % 15. 6 29. 1 6 6] 2,000 | 1 |& &
2 E Vi e & 36.8 88. 2 12| 12| 62,000 [ 1 | 1&
I XX NVF— (KR) THREERN
A + B N — = 119.1 119.1 12| 11.2| 42,000 [ &
t FIATF (B
% B K M & BE 79.1 79.1 | 5.5 4.5 1,300 | 1 |&  BE| 15.7
REBHE (B
= i 113.3 113.3 5 5| 2,000 | 1 |B  EE[ 9.7
RFERERSE (BR) IR T35
= B 60. 0 60. 0 2| 1.9 300 W % Y% 25
KFHEE AV (BR)
e & 36. 6 114.5 8 8| 7,000 | 1 |¥& 1%
KRG REE (BR) FRIFER
== B 190. 5 190. 5 5 5| 1,000 | 1 |# B 15
(BR) 74 - AT
WA v (A5) 0.6 6.9 | 3.5 3 s <
EWMZ AERE (B &) 6.0 25.0 | 3.5 3 L
Ji B wm (C %) 22.0 22.0 | 3.5 3 450 Lz
NIMBEERB (D E) 11.0 18.0 | 3.5 3 L
B M == B 162.0 162.0 9 9 10,750 | 1 Bt  EE
F—arrsU—hk K HEIE
He % 17.0 17.0 4 4 700 B 1B
REAMW (B FRIEBMBT
o1 % OE 1 B 6.7 6.7 11| 11| 5,000 | 1 |# 1%
w1 T B 2 B 35.0 94.8 11| 11| 46,000 [ 1 |#& &
o1 T % 3 B 24.7 31.4 1y 11f 5,000 | 1 |#E &
oo T BB o4 kB 26. 6 34.7 | 5.4 5.4 2,000 [ &
oo T B 5 kKB 25.1 37.2 | 5.4 5.4 2,000 [ &

-334-




w OB K 4 £ iy HE
TR | W< ot | AT | —
L : R - E (:I)%/W) i | R & (m)
(m) (m) FTE | BIAE
1 0 5 s Bt 80.0 80.0 5 5| 1,500 [ 1 |#& A& 13.5
BB 2 o B 81.4 100.0 | 7.5| 7.8 5,000 [ &
B OB& 2 o B 71. 4 90.0 | 7.5| 7.3] 3,000 [ &
B OB 3 B2 B OB 50. 7 60.0 5[ 4.9 1, 000 [ &
H OB B 1 5 K B 90. 0 145.0 | 8.2 8.2 578 | 1 |t I&
H B B 2 5 K B 45. 0 122.0 | 7.5| 7.5 3,998 | 1 |#& 1&
H R B 3 B & B 65. 0 113.0 | 9.2 9.2 1,516 | 1 |#& 1&
H R OB 0 B & 1B 99.7 122.0 | 9.1f 9.1 5000 | 1 |t 15
=l B Y — N — % 26| 30[ 315,000 | 1 |{RAnTREE
WEAMW () -
I X R F— (#)
Wl ] X E 1 %5 5 B 18. 4 18. 4 6 6 1, 500 1 | B
W H J] X E 2 5 F B 13.9 13.9 6 6 1, 250 1 | B
W H J] X E 3 5 & B 18. 4 18. 4 6 6| 2,800 1 | B
WA ] X E K & B 55.0 84.0 12| 12| 53,520 [ 1 |#& i
WIRES (BR) KR ERT
F 7 va i & 299. 2 318.6 8 8 5,000 | 1 |# i
WIREN ()
HBEBELNGEVZ—
WERBL.N. G/ —2 178.6 464. 1 14| 16.3] 109,662 | 1 | 1&
WERENN S —HN— 2 65.8 129.9 | 7.5[17.6] 3,500 [ 1 [ 15
FOAMAE (BR)
£ 1 33 i 58. 0 97.0 12| 12| 60,000 | 1 | 1F
% 2 (33 i 32.2 38.4 | 5.6 5.6 2,000 1 [ 15
% 3 e T 49. 5 49.5 3 3 300 N
HHEAANVE—IF 0 (BR)
)i I A BT
B il e % 18.0 38.0 6 5| 2,000 | 1 | 1
RS )W T35
N i e % 19.0 30. 7 6 5| 2,000 | 1 | 1F
£ % e i 2.0 36.0 6 5 LB <
HREXRI AW () JNEIE
20054
% 1 L33 i 88.8 88.8 12| 12| 68,000 | 1 | 1&
% 2 e i 34. 4 36. 2 8| 6.5/ 5,000 | 1 | 1
% 3 e i 35.2 36. 1 8] 6.5/ 5,000 | 1 | 1
% 4 (33 i 32.8 34.0 6 6] 1,500 | 1 | 1&
% 5 33 i 30. 8 31.6 6 6] 1,000 | 1 | 1§
w6 - 7 K OB 55. 4 55. 4 5| 4.5/ 1,000 | 2 | 1§
% 8 e T 25.0 25.0 4 4 300 N

-335-




##

% ﬁjl:} Ae
SERAE | B ot | AR | o .
L : R - E (:I)%/W) i | R & (m)
(m) (m) FTE | BIAE
400 5H
% 41 e i 30. 4 31.2 | 7.3 7.3 2,000 | 1 K &
% 42 e i 77.2 87.3 | 7.3] 7.3] 5000 | 1 [ &
% 43 e & 30.5 37.3 7 6] 3,000 | 1 [#& i
% 44 e i 42.7 47.0 8| 7.3 7,500 | 1 |k &
% 45 Lz i 30.3 30.3 | 5.5 51 2,000 | 1 | 1B
% 46 e i 25.3 25.3 | 4.7 4.7 500 | 1 |4 &
% 47 e & 34.1 37.7 5 4] 1,000 | 1 [#& i
% 48 o & 20. 3 20.3 4 4 300 e i
% 49 e & 20. 3 20. 3 4 4 300 e i
100 =i
;4 e % 209. 3 209. 3 12| 12| 6,758 | 1 | 1F
£ 2 e & 82. 4 82.4 | 3.5 3.5 500 BB
BB Y — N — 2 - 385.0 | 17.3| 25| 115,567 | 1 |H &
OB R v — N — 2 54.0 509. 5 26| 26| 315,000 | 1 | 15
15 05Hh
A — 1 L5 & 44. 7 70.5 12| 12| 65,000 | 1 |k &
A — 2 e & 34. 4 39.2 8 8 5,000 | 1 |# &
B — 1 e i 29. 2 29.6 | 6.5| 6.5/ 2,500 | 1 | 1§
B — 2 e i 27.0 31.1 | 6.5 6.5[ 2,000 | 1 [ 15
B — 4 e i 36. 3 38.7 | 3.5/ 3.5 500 s
B — 5 e & 25.0 25.0 6 6 300 [ 1 |[#E &
REEHREE (B JNIEX)E
* T 053 % 365.5 388. 8 12| 12| 20,000 | 2 | @ 1F
K e ~ A4 b~ 5 B 110.0 110.0 | 5.5 5| 1,000 | 1 |m B
e 15 e & 295.6 295.6 | 9.5 9.5 10,000 | 2 [#& i 14
M B 370.0 370.0 3 31 1,000 L
B M S — A 56. 0 56.0 | 5.5 5.5 499 | 1 | B
A (#)
e & 16. 6 26.1 | 5.6| 5.6/ 1,902 | 1 | 1
AEY—E R (¥R)
I I N — s 84.0 84.0 4 4 700 % %
(Bk) B¥#r
)| iP5 i3 I 41.6 46. 2 6 6] 2,300 | 1 | 1F
A#FEE () BEXE
% = e % 3.6 12.8 3 3 300 G
AIER (B BRILE
ZN A o= R 51.4 223.3 12| 12| 50,000 | 1 |#E & 11
B W B g BE 212.5 212.5 3 3 L
(B)) NIPPO
B R HOR KOS 34.7 80.1 | 7.5| 7.5 5,000 | 1 | 1§

- 336 -




w OB K 4 £ i HE VA
SR | B < | ATEC | o —_—
L : R - E (:I)%/W) i | R & (m)
(m) (m) FTE | BIAE

AART 7y 7 (#)

e % 45. 4 69.4 | 11.4| 10.4[19,0006/T| 1 | 1§
AR T+ (B)

L - P - G K & 20.0 20.0 | 3.5| 3.5| 700G/T A
AARHERE (KR

A 23 & 12.5 27.3 | 4.7 4.7 800 | 1 |#& &

B 23 & 14.6 30.2 | 4.7 4.7 800 | 1 |#& &
AARZZ b (BR)

z3 & 22.3 22.3 | 3.5 3  #&| 13.5
AA#E ()

i % I B 30.0 30.0 3 3 W % 9% 10
AAEE () BEXE

= B 124. 4 124. 4 6 6] 1,500 | 1 |B=  BE[ 15.1
AAMEE % — (BR)

£ 1 2 Je= ki 81.1 81.1 | 4.7| 4.7 2,000 | 1 [B B

% 2 2 = ki 81.1 81.1 | 4.7 4.71 2,000 [ 1 [& B
(B) ARAE AT

72 e 1 24.7 24. 17 4 4| 2,400 T &
HEIE ()

JI s Xk B E 145. 4 145. 4 5 5/ 1,500 [ 1 [#% & 14.7

L7 % 5% 50. 6 50.6 | 3.5 3.5 L
REARRESHE ()

JII W % BT OB 115.0 115.0 7 71 3,000 | 1 | 1
ASCiER (B M&R)I L%

C I3 B 40. 7 40.7 6 6| 26,000 | 1 |F= @ BE
BREE ()

3,000D/W #% % 1 £ & 20.0 67.0 | 7.1 | 7.1 3,000 [ 1 | 1

3,000D/W #% % o2 K & 16.5 82.0 | 7.1 | 7.1 3,000 | 1 | 1B
ELERE ()

H A M & e BE 197.5 197.5 6] 5.5 2,000 1 |F s
=FHHE (B

H 174 = it 378.0 378.0 10| 10| 22,000 | 3 |F=  BE 3

Rl S N N AP 24. 0 68.0 9 9 10,000 | 1 | 1&

* 55 I 257.0 257.0 12| 12| 30,000 | 1 | @ 1F

=EEMH () R4

e % 20.0 30.0 | 5.6 5.6/ 2,000 1 [ 15
=& IH ) JIRSYERT

L7 % 5% 21.5 21.5 | 2.1 2 R
NEFRE (BR) g v & —

Je= FE 128.3 128.3 8 8 5,700 | 1 |E i 22

- 337 -




w OB K 4 £ i BE A
%ggg E’i‘?ﬁiﬁ AR (=m) | i b e |
BB A K : R - f%u (D/W) M| R & (m)
(m) (m) FTE | BIAE
=fAE
DLV A I [ 3.0 11.5 4 2 AR <
HEEE ()
e & 5.5 16.0 | 1.5 1.5 300 e &
B) VA b T 4—
= B 41.8 41.8 3| 2.4 LN
BEREHEE & —
% iy % 1.5 15.4 4 4 £Rff <0

* BUK DK CHIWFIHIZ L VD, W88, 000DMMD AREELH Y £,

- 338 -






